ROTATIONAL MoTION
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1. A bicycle wheel is moun o

Yo pe ted
wheel’s rim, and on afixed, frictionless axle, A li ght string is wound around the

e a weight is .
situation at three differen in:tt;ﬁf:ed to the string at its free end. The diagrams below depict the

* Att =1, the weight is released from rest

* Att=1,,

the weight i :
cightis falling and the string is still partially wound around the wheel,

th: weight and string have both reached the ground.

e Att=1,,

Weight
falling

t=t,

. Note: The above diagrams do not represent stroboscopic photographs of the wheel.

a. What is the direction of the angular velocity @ of the wheel at each time shown? If |l =0 at
any time, state so explicitly. Explain.

b. What is the direction of the wheel’s angular acceleration @ at each time shown? If lal = 0at
any time, state so explicitly. Explain.
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¥ '::mh Rotational motion
o8 urntable. Let a represent the

raph { ion of the cl
edge of a phonoftripetal acceleration (o) clay.
represﬂﬂ the c€

angular acceleration of the clay and d: ibe a possible motion of the turntable. (Some -'u 1
descri ;

] ans ¢

i. lal=0andlal=0 o]

2. A small piece of clay is stuck near the

ii. lal=0andlal=0

iii. 1al#0and g, =0

b. The equation “a =a, /r” is not a correct vector equation.

i. Explain how you can tell that the vector equation above is not correct.

ii. Is “@=a,/r" acorect scalar equation? Explain why or why not.
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